What is the radius of the circle � EMBED Equation.2  ���?��(A)  � EMBED Equation.2  ���	(B) � EMBED Equation.2  ���	(C)  � EMBED Equation.2  ���	(D) � EMBED Equation.2  ���	(E)  NOTA

What is the distance between the vertices of the hyperbola � EMBED Equation.2  ���?��(A)  6	(B)  � EMBED Equation.2  ���	(C)  4	(D) � EMBED Equation.2  ���	(E)  NOTA

Determine the equation of the parabola with focus (8,-3) and directrix � EMBED Equation.2  ���.��(A)  � EMBED Equation.2  ���	(B)  � EMBED Equation.2  ����(C) � EMBED Equation.2  ���	(D) � EMBED Equation.2  ���	(E)  NOTA

What are the foci of the ellipse � EMBED Equation.2  ���?��(A) � EMBED Equation.2  ���	(B) � EMBED Equation.2  ���	(C)  � EMBED Equation.2  ���	(D) � EMBED Equation.2  ���	(E)  NOTA

In how many points do the equations � EMBED Equation.2  ��� and � EMBED Equation.2  ��� intersect?��(A)  3	(B)  2	(C)  1	(D)  0	(E)  NOTA

The region � EMBED Equation.2  ��� and  � EMBED Equation.2  ���lies entirely in which quadrants?��(A)  I	(B)  I & IV	(C)  IV	(D)  III & IV	(E)  NOTA

What is the eccentricity of � EMBED Equation.2  ���?��(A)  � EMBED Equation.2  ���	(B) � EMBED Equation.2  ���	(C) � EMBED Equation.2  ���	(D) � EMBED Equation.2  ���	(E)  NOTA

What is the eccentricity of � EMBED Equation.2  ���?��(A)  � EMBED Equation.2  ���	(B)  � EMBED Equation.2  ���	(C)  � EMBED Equation.2  ���	(D)  � EMBED Equation.2  ���	(E)  NOTA

Determine the equation of the hyperbola which foci � EMBED Equation.2  ��� and passing through the point � EMBED Equation.2  ���.��(A)  � EMBED Equation.2  ���	(B) � EMBED Equation.2  ���	(C) � EMBED Equation.2  ���	(D) � EMBED Equation.2  ���	(E)  NOTA

What shape is the locus of all points twice as far from the point (6,3) as their distance from � EMBED Equation.2  ���?��(A)  an ellipse	(B)  a parabola	(C)  a hyperbola	(D)  not a conic	(E)  NOTA�			         section

What shape is the locus of all points twice as far from the point (4,1) as their distance from the point (8,-7)?��(A)  an ellipse	(B)  a parabola	(C)  a hyperbola	(D)  not a conic	(E)  NOTA�			         section

What is the shape traced by the parametric equations � EMBED Equation.2  ��� and � EMBED Equation.2  ���?��(A)  an ellipse	(B)  a parabola	(C)  a hyperbola	(D)  not a conic	(E)  NOTA�			         section

Which of the following is a polar form of the rectangular equation � EMBED Equation.2  ���?��(A) � EMBED Equation.2  ���	(B) � EMBED Equation.2  ����(C) � EMBED Equation.2  ���	(D)  � EMBED Equation.2  ���	(E)  NOTA

A ladder has its foot on the ground and leans against the side of a building taller than itself.  If the ladder is 3 meters long and point P is on the ladder 1 meter from its foot, point P will travel a portion of what shape as the foot of the ladder is moved further from the building?��(A)  a circle	(B)  an ellipse but	(C)  a parabola	(D)  a hyperbola	(E)  NOTA�	         not a circle

All planets travel elliptical paths about the sun, with the sun at one focus.  In January the Earth is at aphelion, it’s closest approach to the sun, which is � EMBED Equation.2  ���km, while during July, the Earth is at perihelion, its farthest distance from the sun, which is � EMBED Equation.2  ���km.  What is the eccentricity of Earth’s orbit, to three significant figures?��(A)  .016	(B)  .019	(C)  .021	(D)  .025	(E)  NOTA

What shape is the graph of � EMBED Equation.2  ���?��(A)  a circle	(B)  an ellipse but	(C)  a parabola	(D)  a hyperbola	(E)  NOTA�	         not a circle

What are the slopes of the asymptotes of the equation � EMBED Equation.2  ���?��(A) � EMBED Equation.2  ���	(B) � EMBED Equation.2  ���	(C) � EMBED Equation.2  ���	(D)  � EMBED Equation.2  ���	(E)  NOTA

�������

In the figure below, a ruler is pivoted about point A, and a string is tied from the ruler’s other end, point E, to point B.   If a pencil (P) is held against the ruler such that the string is kept taut while the ruler pivots, a portion of what shape will be traced?��(A)  a circle	(B)  an ellipse
 but
	(C)  a parabola	(D)  a hyperbola	(E)  NOTA
�
	         
not a circle


A ball is thrown horizontally from the top of a 48 meter tall tower at 60 m/s.  If the ball’s height, due to the acceleration of gravity, is � EMBED Equation.2  ���, and t is the number of seconds since the ball was thrown, find an equation in x (the distance from the tower) and y (the height above the ground) for the locus which includes all the positions the ball will occupy.��(A) � EMBED Equation.2  ���	(B) � EMBED Equation.2  ���	(C)  � EMBED Equation.2  ���	(D) � EMBED Equation.2  ���	(E)  NOTA

The parametric equations of a particle’s motion in the plane are � EMBED Equation.2  ��� and � EMBED Equation.2  ���.  What is the shape of the path traced by the particle?��(A)  an ellipse	(B)  a parabola	(C)  a hyperbola	(D)  not a conic	(E)  NOTA�			         section

What is the shape of the graph of � EMBED Equation.2  ���?��(A)  a circle	(B)  an ellipse but	(C)  a parabola	(D)  a hyperbola	(E)  NOTA�	        not a circle

What is the eccentricity of the locus of all points P(x,y) whose distance from the point F(5,2) is half that of their distance from the line � EMBED Equation.2  ���?��(A)  � EMBED Equation.2  ���	(B)  � EMBED Equation.2  ���	(C)  1	(D)  2	(E)  NOTA

In cylindrical coordinates, the graph of � EMBED Equation.2  ��� is intersected by the graph, in rectangular coordinates, of � EMBED Equation.2  ���.  What is the shape of this intersection?��(A)  a circle	(B)  an ellipse but	(C)  a parabola	(D)  a hyperbola	(E)  NOTA�	         not a circle

An ellipse is moved about the first quadrant, subject to the constraint that it always be tangent to the x and y axes.  The path traced by the center of the ellipse is a portion of what shape?��(A)  a circle	(B)  an ellipse but	(C)  a parabola	(D)  a hyperbola	(E)  NOTA�	         not a circle

What is the shape of the graph of � EMBED Equation.2  ���?��(A)
 a circle
	(B)
  an ellipse but
	(C)
  a parabola
	(D)
  a hyperbola
	(E)  NOTA
�	         
not a circle


What is the shape of the graph of � EMBED Equation.2  ���?��(A)  a circle	(B)  a limacon	(C)  a cardiod	(D)  a 4-leaf rose	(E)  NOTA

What is the shape of the graph of � EMBED Equation.2  ���?��(A)  a circle	(B)  a limacon	(C)  a cardiod	(D)  a 4-leaf rose	(E)  NOTA

What is the shape of the graph of � EMBED Equation.2  ���?��(A)  a circle	(B)  a limacon	(C)  a cardiod	(D)  a 4-leaf rose	(E)  NOTA

Which of the following polar points are coincident to the polar point � EMBED Equation.2  ���?�	I. � EMBED Equation.2  ����	II. � EMBED Equation.2  ����	III. � EMBED Equation.2  �����(A)  II	(B)  III	(C)  I & II	(D)  II & III	(E)  NOTA

Which of the following statements indicates that a graph has symmetry about the x-axis?�	I.  � EMBED Equation.2  ����	II.  � EMBED Equation.2  ����	III. � EMBED Equation.2  �����(A)  II	(B)  III	(C)  I & III	(D)  I, II & III	(E)  NOTA
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